ECE 256 Midterm Exam              4 May 2009

     Spring Semester
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Open book and open notes.

Good luck (
Answers without necessary steps will not get any cre
1) Evaluate     [image: image2.png]§. (az 4cos?6 sin0) - d3



      over the surface of a sphere of a radius R=1.  This sphere is centered at the origin.(20)
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  exist in the region of cylindrical shell formed by two cylinders defined by ri = 1 and ro = 2, and height is h = 5.  Evaluate
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= 
E2 and E3 are similar

3) A spherical capacitor consists of an inner conducting sphere of radius Rj and an outer spherical conducting shell of inner radius Ro. The space between Rj < R:s R1 is filled with a dielectric pennittivity of £1 and the space between R1 < R:s R2 is filled with a dielectric permittivity of £2. There is air between R2 < R:s Ro. 

b) Determine the capacitance of the system (30) 

c) Discuss the case for Ro -7 co. (10) 
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